
P3

ΣDU=1,8 dm³/s

L=3,76 m

75 x 3,5

i=2,1 %

ΣDU=1,8 dm³/s

L=0,82 m

75 x 3,5

i=--- %

75 x 3,5

ΣDU=1,8 dm³/s

L=2,83 m

50 x 3,0

i=2,0 %
ΣDU=0,6 dm³/s

L=0,04 m

50 x 3,0

i=--- % ΣDU=1,2 dm³/s

L=1,09 m

50 x 3,0

i=2,0 %

ΣDU=0,6 dm³/s

L=0,19 m
i=13,7 %

50 x 3,0

ΣDU=0,6 dm³/s

L=1,04 m

50 x 3,0

i=2,0 %

Φ=1453 W

Łazienka
+24 °C

10a'

P2

P1

ΣDU=6,0 dm³/s

L=0,91 m

110 x 5,3

i=2,2 %

1

50 x 3,0

ΣDU=1,5 dm³/s

L=2,86 m

110 x 5,3

i=2,8 %
ΣDU=1,5 dm³/s

L=0,80 m

110 x 5,3

i=--- %

110 x 5,3

ΣDU=1,5 dm³/s

L=0,24 m

50 x 3,0

i=1,5 %

ΣDU=0,5 dm³/s

L=0,03 m

40 x 3,0

i=--- %

ΣDU=1,0 dm³/s

L=1,11 m

40 x 3,0

i=1,5 %

ΣDU=0,5 dm³/s

L=0,15 m
i=12,1 %

40 x 3,0

ΣDU=0,5 dm³/s

L=1,08 m

40 x 3,0

i=1,5 %

ΣDU=0,5 dm³/s

L=1,41 m

50 x 3,0

i=--- % ΣDU=4,0 dm³/s

L=0,42 m

110 x 5,3

i=1,5 %

1

ΣDU=2,0 dm³/s

L=0,02 m

110 x 5,3

i=--- % ΣDU=2,0 dm³/s

L=1,09 m

110 x 5,3

i=1,5 %

Φ=947 W
+20 °C

WC
10a

P4

ΣDU=4,0 dm³/s

L=1,00 m

110 x 5,3

i=2,0 %

ΣDU=4,0 dm³/s

L=0,88 m

110 x 5,3

i=--- %

110 x 5,3

ΣDU=4,0 dm³/s

L=0,35 m

110 x 5,3

i=13,1 % ΣDU=2,0 dm³/s

L=0,16 m

110 x 5,3

i=--- %

ΣDU=2,0 dm³/s

L=1,21 m

110 x 5,3

i=13,1 %

Φ=1009 W
+20 °C

WC
11a

P5 P6

ΣDU=6,0 dm³/s

L=0,93 m

110 x 5,3

i=2,2 %

ΣDU=3,0 dm³/s

L=0,88 m

110 x 5,3

i=--- %

2

110 x 5,3

ΣDU=0,5 dm³/s

L=0,45 m

40 x 3,0

i=--- %

ΣDU=0,5 dm³/s

L=0,71 m

50 x 3,0

i=1,5 % ΣDU=2,0 dm³/s

L=0,32 m

110 x 5,3

i=14,1 %

2

ΣDU=3,0 dm³/s

L=1,61 m

110 x 5,3

i=2,5 %
ΣDU=3,0 dm³/s

L=0,82 m

110 x 5,3

i=--- %

110 x 5,3

ΣDU=2,0 dm³/s

L=0,42 m

110 x 5,3

i=1,5 %

ΣDU=1,0 dm³/s

L=0,49 m

40 x 3,0

i=1,5 %

ΣDU=0,5 dm³/s

L=0,15 m
i=13,1 %

40 x 3,0ΣDU=0,5 dm³/s

L=1,11 m

40 x 3,0

i=1,5 %

Φ=1009 W
+20 °C

WC
11a

Φ=1009 W
+20 °C

WC
11a

Φ=1009 W
+20 °C

WC
11a

Φ=916 W
+20 °C

WC
12

Φ=916 W
+20 °C

WC
12

Φ=625 W
+20 °C

WC
13

P10

ΣDU=11,4 dm³/s

L=2,88 m

110 x 5,3

i=2,4 %
3

ΣDU=8,0 dm³/s

L=2,42 m

110 x 5,3

i=2,1 %

3

ΣDU=4,5 dm³/s

L=2,82 m

110 x 5,3

i=2,1 %

ΣDU=4,5 dm³/s

L=0,70 m

110 x 5,3

i=--- %

4

110 x 5,3

ΣDU=0,5 dm³/s

L=1,67 m
i=12,2 %

40 x 3,0ΣDU=2,0 dm³/s

L=0,59 m

110 x 5,3

i=1,5 %

ΣDU=2,0 dm³/s

L=0,70 m

110 x 5,3

i=1,5 %

4

ΣDU=3,5 dm³/s

L=1,30 m

110 x 5,3

i=2,3 %
ΣDU=3,5 dm³/s

L=0,75 m

110 x 5,3

i=--- %

5

110 x 5,3

ΣDU=2,0 dm³/s

L=0,34 m

110 x 5,3

i=1,5 %

ΣDU=0,5 dm³/s

L=0,88 m

50 x 3,0

i=1,5 %

ΣDU=1,0 dm³/s

L=1,41 m

40 x 3,0

i=1,5 %
5

ΣDU=0,5 dm³/s

L=0,55 m

40 x 3,0

i=1,5 %

ΣDU=0,5 dm³/s

L=0,20 m

40 x 3,0

i=5,2 %

ΣDU=3,4 dm³/s

L=0,50 m

75 x 3,5

i=2,0 %

3

ΣDU=2,4 dm³/s

L=0,50 m

75 x 3,5

i=4,0 %

ΣDU=2,4 dm³/s

L=0,80 m

75 x 3,5

i=--- %

6

75 x 3,5

ΣDU=0,6 dm³/s

L=0,40 m

50 x 3,0

i=1,5 %

ΣDU=0,6 dm³/s

L=0,40 m

50 x 3,0

i=1,5 %

ΣDU=1,2 dm³/s

L=0,22 m

50 x 3,0

i=4,9 %
6

ΣDU=0,6 dm³/s

L=0,06 m

50 x 3,0

i=--- %
ΣDU=0,6 dm³/s

L=1,07 m

50 x 3,0

i=4,9 %

ΣDU=1,0 dm³/s

L=2,27 m

75 x 3,5

i=3,1 %
ΣDU=1,0 dm³/s

L=0,75 m

75 x 3,5

i=--- %

75 x 3,5

ΣDU=0,5 dm³/s

L=1,91 m

40 x 3,0

i=1,5 %

ΣDU=0,5 dm³/s

L=0,42 m

50 x 3,0

i=1,5 %

Φ=827 W

Łazienka
+24 °C

6

Φ=827 W

Łazienka
+24 °C

6

Φ=827 W

Łazienka
+24 °C

6

Φ=456 W
+20 °C

WC
7

Φ=456 W
+20 °C

WC
7

Φ=456 W
+20 °C

WC
7

Φ=1457 W

Magazyn
+20 °C

9

Φ=1457 W

Magazyn
+20 °C

9

Φ=1457 W

Magazyn
+20 °C

9

Φ=648 W
+20 °C

WC
8

Φ=1019 W

Łazienka
+24 °C

11a'

Φ=1019 W

Łazienka
+24 °C

11a'

Φ=625 W
+20 °C

WC
13


	Arkusze
	IS-10


